N-200
= Mepze R (REEER)

3-jaw through-hole power chuck
(adapter excluded)

1. KREBHLE -

2. 5FEEE -
HFfN-204~N-218 Serration Pitch 1.5
HFi4N-220~N-224 Serration Pitch 3.0
B T
T = | r
| I S =E o @
(]
u N et :’- W e | > ;
g (@) K,
I =1
34 J |
| —_ 2
=Y % I =2 _|E ! [ xgl\_\z“
- 1 b f il
s g 8 & 8 e |
] Pls ! I ]
LR b= 8/
J
—f
EE——— — 3
| I
! | M . 120"x3pcs : N-204,N-205
K/ _° g 15" : N-206~N-218
N B i 30° : N-220~N-224
8] : mm
B 5
g
N-204 26 10 5.4 1428 2906 31.6 8000 4 0.007  M0928 HJO5 HCo4 o4-9110
N-205 33 10 5.4 1784 3671 28.5 7000 7 0.018  M1036 HJo5 HCO05 06-0135
N-206 045 12 55 2243 5812 28.5 6000 135  0.057  M1246 HJ06 HCOo6 015-0169
N-208 52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJo8 HCo8 ©20-0210
N-210 75 19 8.8 4385 11319 27.5 4200 35 0315  M1875 HJ10 HC10 025-0254
N-212 291 23 10.6 5812 14990 27.5 3300 565 0.737  M2091 HJ12 HC12 @30-0304
N-215  @1175 23 10.6 7240 18355 23.5 2500 111 227 M2511 HJ15 HC15 050-0381
N-218  ©@1175 23 10.6 7240 18355 23.5 2000 131 3.55 M2511 HJ15 HC15 @50-0450
N-220 2180 23 10.6 9177 23861 30.6 1800 190 6.5 ML2816  HJ24-1  HC24-1  ©120-0510
N-224 @205 26 12 9177 23861 26.5 1400 270 148  ML3320 HJ24-1 HC24-1  ©150-9610

R

N-204 110 59 85 14 70.6 16 3-M10x60 26 232 1375 6.75 35 -65 10 175 23 M32x1.5 38 24 495
N-205 135 60 110 14 8255 15 3-M10x60 33 265 19.75 7.75 1 -9 10 20 25 M40x1.5 45 31 54
N-206 169 81 140 20 104.78 16 6-M10x80 45 32 2275 925 11 -1 12 19 31 M55x2 60 37 73
N-208 210 91 170 25 133.35 20 6-M12x90 52 387 29.75 11.75 145 -15 14 205 35 M60x2 66 38 95
N-210 254 100 220 30 171.45 22 6-M16x100 75 51 3375 1425 85 -10.5 M85x2 94 43 110
N-212 304 110 220 30 171.45 23 6-M16x110 91 4575 1575 8 -15 21 28 50 M100x2 108 51 130
N-215 381 133 300 43 235 30 6-M20x135 117.5 82 4525 1525 7 -16 22 43 62 M130x2 139 66 165
N-218 450 133 300 43 235 30 6-M20x135 117.5 82 79.75 1525 7 -16 22 43 62 M130x2 139 66 165
N-220 510 134 380 60 330.2 35 6-M24x135 180 1125 605 245 11 -12 25 38 64 M190x3 206 73 180
N-224 610 147 520 60 463.6 35 6-M24x150 205 139.9 875 245 16 -10 25 38 64 M215x3 230 73 180

o o O O o o o o » b
(2]
=
w
(IS TS, NG B CR CRE SRR CRRY CR N}
-
o
N
o
N
o



